
Solutions sheet No. 29 
Pythagoras’ Theorem 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

1 2 3 4 5 

6 7 8 9 10 

11 12 13 14 15 

16 17 18 19 20 

Find the value of the pronumerals in each of the following, correct to 1 dec. pl. where necessary; 

a cm 

8 cm 

17  cm 

e cm 

15 cm 

25 cm 

 
8 cm 

i cm 

16 cm 

7 cm 

g cm 

9 cm 

m cm 
48 cm 

50 cm 

c cm 

4 cm 

4.5 cm 

o cm  

9 cm 

12 cm 

8 m q m 

17 m 

s cm 

2.4 cm 

3 cm 

10 cm 

k cm 

12 cm 

9 cm 

12 cm 

b cm 
4.5 cm 6 cm 

d cm 

10 m 7.5 m 

f m 

3.5 mm 

4.5 mm 

h mm 

30 cm 

16 cm 

    j cm 

6 cm 

8 cm 

l cm n m 

35 m 

37 m 

3 cm 

10 cm 

p cm 
5.6 cm 

4.2 cm 

   r cm 

4 m 

4 m 

t m 


